EARAROBREBRT —5 XN—ZXBISH—F

2022668128 (B) 3EERR4H

SR eI

N=F4N
/e

Giilac)

EEEREEE

z

18000 R

[AE%] 17%&:7,000,000  ~ 235:2,800,000 .~ 375:1,800,000  43%&:1,100,000 9 5 j&:700,000

B % B FrE R/ I MHE BF (F8) 4L (B | BEIR | E3F |SIEH | AK | #E | BEE FR) / BE / £ERS
I XEVIETE : -2~ AFOHRL (=)
N« EPZZisPEIN 2 | K& 1.(5?).5 2-2-2 |34 773 | 1 (450) e
R:5TU—=F4 B:RI—XN—2 #HBEIT7—L
S )~ 2 st 2 | )I|EORH 1:50.6 10-9-7 |33.5(76.7 | 1 488 | EEER (GR)
1 c VAEP 2 L 54.0 /2 (=) | R F/vIR
RIN=YISA B:Y—RTIAH— /=YY T 7—I
£ 2 | %mAA 1:50.7 333 341|752 | 4 | 428 |TERRE (KR
317/ 9| A3AFILR ! 54.0 0 (=) | .60 I5TUYRIST-5T47
RiI=IVRYwT B:RARITLI 1L HMABHITIW—RI—-XT7—L
S V7 A | 2 | RHEEE 1:51.1 4-4-4  |34.4| 70.8 | 8 466 | /NERRER (55)
400 4| VILIN=AR—] i 8.0 @172 (—) |NinomiyaYe/\vL—y>T
RVILN=ZF—~ Bk /NY—= Y9577 L
R — o2 | SHEMR 1:51.5 8-9-10 |34.3| 66.7 | 5 | 490 |KHFEL ()
5/5/6| T FTVa—L 540 @172 o, |me®L
R/ IAVEYR BIIUETIY— fAHERSY K
=~ s 2 | CobX—=b 1:51.6 7-6-6 | 34.6| 65.5 | 3 | 42 |IEE &R
EH 3 FaITE—=27 4. (172) (=) hifGR
RFRF BE-ZVIUR FrYEFYRT7— I
- . o2 | BfelE 1:52.0 1-1-1 [36.8|50.9 | 7 | 464 | LEfEZ (KR)
7\7|10| h—E¥ /D7 54.0 6 (o | Bl
Rib—EVKILARY 8 b—trOey BRAEM IRFA4T7—L4
Vi) o2 | AESN 1:52.2 N-11-11 | 34.6| 59.2 | 12 | 482 |FIEHE= ()
8|5|5| AUFPVTAR 540 a1/2) (=) | RARIR
Ri—5—YvF B:RI—FI LR e
Tow R — 52 | VX 1:52.2 4-4-4 354 56.4 | 10 | 432 |EHUF RN
98|11 Iy R/T=Ib 54.0 oE) (-) | PEXZES
R:FIYUITSvT B:IFITUT e
S~ N # 2 | D. b=Y 1:52.3 8-7-7 [35.2|57.2 | 2 | 482 |HENRCZ EH)
EE 2 ==0 4:0 (1/2) (- | @ FrOvbIr—n
R:RLT#Y B:IVITIVITF—)b J=YUTr—A
SIS 4 2 | FIBEKX 1:52.5 6-7-7 |35.4|54.1| 6 478 | TIRIER (557)
11181121 7Y RILy TR 54.0 m (—) |tEEE
RIUARZwT BPIAYBIT7AY [leskie
= . IRHIBE 3 -1- FBEE= (=)
121111 | 7Z2FIL7OUF R 2 | EHE (11512/27) 1-11-11 | 35.1] 54.2 | 9 (482) pER
Ri—>—IvF B:AVIT1ITILDTY Bt @&
®I1LA
Enty 47.2-35.3
NOYFA L | 13.2-12.1-12.9-12.7-12.4-11.9-11.4-12.0-11.9
@ 1—F—@BIEfI
1J—3—
Al=5r= 10,8-9(4,11)12,3(2,6)7(1,5)
Il=zr= 10=8,9(4,11)3(2,12) (6,7) (1,5)
4J—F— 10-8,9(4,11)3(2,12,7)6-(1,5)
o I RE
B B 8 13,1901 | [ 94 & 7-8 1,550 % & 6-6 5,360 3iEE 7-8-9 9,340
5 B 8 1,040M 8-9 5,720M 5 ks 7-8 5,960 EL| 8-7-9 191,280H
7 1108 7-9 330M 5y 8-7 27,650
9 230M

ABIC OV TRUTEREERRODDZE. THRIIZEL.




